1128 & &

- #F% % 460m

A FG-F) L E

% 1 Kzl (100)- = £ %11°15
¥ = ~ - El EE 3 T %1 I H#1 » 1
FL% -z - - - @ -z -
2, s PR S S §Eon BT H B %
3 5 12. 43 15.52 11.57 11.85 12.11 12.78
¢ = 4 6 1 2 3 5
112828 -&5 F3260n BAFCGEF)LE
1 . (108)- = #1 % 210 28

¥ & - &1 - Fl =31 w %] Il 281
FLB -2 -f -9 - f - @ -2

v HARY | M [ g RPY | fmR | 2
& 11.84 11.59 10. 47 11. 32 12.15 11.08
z % 5 4 1 3 6 2




1128 & &

k)
[u—

- #F#% 4 460m

A FG-F) L E

B (108)= z +k3# 4.9 98
¥ =% - &1 - Fl z%1 T %1 IH#1 # s 1
TL& - g - C - @ - -t -7
2 BEIYE | £58 FRpT £ R = R W 5 Sl

3 5 12. 01 11.11 10. 57 10.79 11.41 11.69

t=x 6 3 1 2 4 9)

1128 &/ - &% F460m BAFGEF)EHE
D | E (109)= ~ & 229" 43

¥ = - &1 - ¥l 3 r %1 41 ¥ 1
FL% -C -7 -~ -~ - v -

2, %+ A 5 ek VALK F AR SR S
N 11.89 11.11 10. 85 10. 53 11. 36 11.62
t=x 6 3 2 | 4 5




1128 &= &

k)
—

&% ~4100m

BAFGEF)LE

® (106)= ® % +i&17° 15
¥ - = = z I >
FL& =" e zc zvc =" =9
5 M W LSS FRIF] & b2 ’H&%%
& 5 18. 89 18. 61 17.33 18. 2 17.92 19.15
&= 5 4 1 3 2 6
1128 # Rk =Z#% 7210m B4 FCG-F)LE
¥ 1 . (108)= 3 % 75 #1588
= - = = .3 I B
FL% zc = = el = = p
% megs | g | oade [ o=zg | swal | ews
X 17.8 17. 27 17.03 17.49 16.49 18. 02
&= 5 3 2 4 1 6




1128 &= &

k)
[u—

z &%+ 2 100m

BAFGEF)LE

Kz (107)z = 34 <1608
= - = = P2 I 7
FL& 7 z ¥ w7 z ¥ P i
5 g EN % e FIEF % B 5%
I 17.65 18. 76 17.08 18. 83 17.99 17. 3
t=x 3 5 1 6 4 2
1128 # R w#s 7210m B4 FCG-F)LE
D | E (111) ==~ 5 23 1531
= - = = 2 I 7
FLB P ¥ 7 3 Z > T
5 EE VA XS B % B R o 2
= 5 17.17 16. 97 Bl 17. 47 16. 7 17,77
X 3 2 4 1 )




1128 &= &

k)
[u—

I &% +2100m

BAFGEF)LE

l (103)T ~p 414" 72
¥ - = = z I >
FL& I3 i ip 148 El i ip
& B AE HRFE 2 e m MR 5 FF 9 E 0
I 17. 41 16.5 15.95 16. 27 16. 77 17.11
t=x 6 3 1 2 4 5
1128 #% &% 32100m BAFCGIF)LE
£ 1 il (103)7 ~ % = & 1471
= - = = .2 I =
FL% E Els L e Eg i ER i
4 B e | Fan Tl | AL e R
= 5 16. 78 16. 53 15. 04 15. 57 16. 2 17.11
AN 5 4 | 2 3 6




11282 &R » &% -+ 4100m

BAFGEF)LE

¥ 1 il (104)% ~ F & 3714° 00
= - = = 3 I B
FL& 3 = K8 - 18 3 - 18 - "
| oBrrE | BRR | wme [ axA | Ems [ pER
& 5 15. 82 14. 41 13. 91 15. 07 15. 52 16. 28
&% 5 2 1 (rzs) 3 1 6
1128k &% 32100m BAFCGIF)LE
> 1 Kzl (104)= ~ % & 1353
= - = = P2 I a
FL% AT o i G
2 waf | mEF | wpa
£ 5 Hal 14.3 14. 88
t=x | 3




128 &R &5 92100m @4 FGLR) L E

* 2 EizN
- = = T I
- R =7 - 18 i
£ g B+ ¥R K Fi A F
15. 39 14. 77 15. 09 15. 76
& =X 5 2 4 6




1128 # &

IE%

“+ 4 200m

BAFGRE) L

1 iz (106)7 @ #is 29° 54
= - = = P2 I B
FL Bl Ei i | E I3
2, P 14 ot B3 Ly P %55 L4 ) Pk
* % 34. 91 35. 93 34. 09 35. 31 35. 57 37. 69
&% 2 5 1 3 4 6
1128 &R T#m 72200m BAFGEF)LE
5 1 Kl (103)7 ~ & ix#F31°43 ~ (106) 7 ~ +r4w3k31° 43
= - = = s I >
FL% i I~ Ic E B )| I~
v = w2 wF L BN % B ¥ e % e R
* K 33. 14 33. 87 32.43 33.58 32. 78 34. 38
& =% 3 5 1 4 2 6




1128 # &

= &£ % &4 200m

A FECGEFE)E

1 Kl (112)+ 4% % B % 30"37
= - = = P2 I B
FLB * 7 * &Y > Y - 4 * o 2=
4 FRIAER Ep K n B H & FIF 4= ¥
* 5 30. 27 33. 26 29. 96 30. 49 32.07 34. 97
&% 6 4 1 Corsese 2 3 5
1128 &R &£ 72200m BAFCG-F)LE
S 1 Kz (105)= [3 3% %29 17
1IN - = = = 7 =
FL% * T 3 - §8 - 88 3 X T
v Fegr | 2Rl | BPHF R & E N S
> 5 33. 952 30. 93 30. 24 30. 56 32. 07 33. 96
= ) 3 1 2 4 6




